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Answer question one and any other two questions.
Questivn oe (J0 marks)
8) Define the term statistics and explain the two broad categories of siatistice (4 marks)
¥ Given the following data, obtain the Spearman’s rank correlation coefYicient
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(5 marks)
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¢) Give 8 brief distinction between mean sbsolute deviation and quartile deviation. Hence obtain the
qQuartile deviation and the mesn absolute devistion for this data below

19, 13, 14, 12, 1], 15, 18, 14, 17, 13, 19 (7 marks)

& Or'u\ilcdndunbelow into 8 grouped frequency table and find the mode of the data.
\

150 174 103 92 20.7 189 166 22.4 23.7 186 261 16.5 19.712.9
157 308 154 203 240 296 183 237178 246 230 21.4 328 125
175183 232 216 208 298 245 284 135 170 2701 279 ° (10 marks)
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¢) The foliowing tabie shows the frequency distribution of the diameters of 52 secdlings.

| Class __| Frequency |
6

[ 33-39 mem

| 4044 mm 12

[ 4549 mm 15

| 30-34 mm 10
$5-59 mm 9

(Lengths have been measured 1o the nearest millimetre). Draw 8 histogram and fit s

frequency polygon on the same axis for this deta (5 marks)
Ouartion Two (290 marks)
8) Explain the following terms as used in hypothesis testing
) Mull hypothesis and shernstive hypothesls {2marks)
i) Type | error and type Il error (2 marks)
ti) Level of significance and P.valus (2 marks)

b) Conaider the fullowing samples from two independent populstions

Coune A0 2]2]|3]131]5S

Course B |3[(6]|6]|7 |8

Assuming equal population variances make an inferential comparison of means. (6 marks)
¢) The expecied value of the following Probability distribution is 7. Determine the values of r
and t hence find the variance of X. (7 marks)

X s [6]7] 8 |9
P(X=x)[020]¢[2r]0.15]1
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8) The followi :
iy u‘:“”‘“‘l table gives the marks of 58 students in Statistics. Cakulate the average marks
standard deviation of this group.,
Marks No.of
students
0-10 4
10-20 8
20-30 11 v
30-40 15
40-50 12
50-60 6 -
60-70 2 C
(10 marks)
b) Fit a regression equation for the data
Month(x): | 1 2 3 4 s 3 7 9 10
Height(y): | $2.5| 58.7| 65[70.2| 754 | 81.1 [ 87.2| 95.5|102.2 | 108.4
3'..‘Ly Ltf_r-n- $ew (‘ Ml)

o T e e

pays Ksh 5,000 each and some garden men who receives Ksh 7,000 each. If he pays out an
average of Ksh 5,700 per month to these people, find the number of garden men.
(4 marks)

a) In a nationwide survey, 100 boys and 50 girls arc sampled. For boys, the average number of
absences in the first year is |5 with a standard deviation of 7; for girls, the average number of
asbsences is 10 with a standard deviation of 6. What is the mean and standard deviation of
absences for the entire group of 150 students? (5 marks)

b) Ata school fair, visitors enter a 'Guess the weight of the cake’ competition. Their gucsses,
rounded to the nearest 100 grams, were recorded in the following table:

| Guess(kg) 1105-107 | 108-11.01 10.1-103 }114-11.6]11.7-119
Frequency S 32 26 11 6
Find the geometric and harmonic mean of the guessed weight (4 marks)

€) Briefly explain the difference between skewness and kurtosis hence illustrate graphically the
three types of skewness and the three types of kurtosis (5 marks)
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d) Using your calculair, determine the mean and standard devistion of the deta
31 3529 38 1% 29 48 &6 28 47 42 . Hence Nnd;

1)  The coefficient of varistion C.V (X) (3 marks)
(x-3)

) Thekunosis 4= b2 (3 marks)
ns




